



On a subclass meromorphic functions with positive coefficients

B.Elizabeth Rani ¹, Rajkumar N. Ingle ² and P.Thirupathi Reddy ^{3*}

Abstract

In this paper we introduce and study a new subclass of meromorphically convex functions with positive coefficients defined by a differential operator and obtain coefficient estimates, growth and distortion theorem, radius of convexity, integral transforms, convex linear combinations, convolution properties and δ -neighborhoods for the class $\sigma_p(\alpha)$.

Keywords

Meromorphic, convex, starlike, coefficient estimates.

AMS Subject Classification :

30C45.

¹Department of Mathematics, SKNR Government Arts & Science College, Jagital-505327, Telangana, India.

srikruitha007@gmail.com

²Department of Mathematics, Bahirji Smarak Mahavidyalay, Bashmathnagar-431512, Maharashtra, India..

ingleraju11@gmail.com

³Department of Mathematics, Kakatiya University, Warangal-506009, Telangana, India.

*Corresponding author: ³reddypt2@gmail.com

Article History: Received 19 January 2021; Accepted 13 March 2021

©2021 MJM.

Contents

1	Introduction	850
2	Coefficient inequality	851
3	Distortion Theorems	851
4	Class preserving integral operators	852
5	Convex linear combinations and convolution properties	852
6	Neighborhoods for the class $\sigma_p(\alpha, \gamma)$	854
	References	854

1. Introduction

Let Σ^* be denote the class of meromorphic functions of the form

$$f(z) = \frac{1}{z} + \sum_{m=1}^{\infty} a_m z^m, \quad (a_m \geq 0) \quad (1.1)$$

which are analytic in the punctured unit disc $E = \{z : z \in C \text{ and } 0 < |z| < 1\}$. Let $g(z) \in \Sigma^*$ be given by

$$g(z) = \frac{1}{z} + \sum_{m=1}^{\infty} b_m z^m, \quad (b_m \geq 0). \quad (1.2)$$

Then the Hadamard product (or convolution) of $f(z)$ and $g(z)$ is given by

$$(f * g)(z) = \frac{1}{z} + \sum_{m=1}^{\infty} a_m b_m z^m = (g * f)(z). \quad (1.3)$$

A function $f \in \Sigma^*$ is meromorphic starlike of order α ($0 \leq \alpha < 1$) if

$$-Re \left\{ \frac{zf'(z)}{f(z)} \right\} > \alpha, \quad z \in C. \quad (1.4)$$

The class of all such functions is denoted by $\Sigma_s^*(\alpha)$.

A function $f \in \Sigma^*$ is meromorphically convex of order α ($0 \leq \alpha < 1$) if

$$-Re \left\{ 1 + \frac{zf''(z)}{f'(z)} \right\} > \alpha, \quad z \in E. \quad (1.5)$$

The class of all such functions is denoted by $\Sigma_k^*(\alpha)$. The classes $\Sigma_s^*(\alpha)$ and $\Sigma_k^*(\alpha)$ were introduced and studied by Pommerenke [11], Clunie [3], Royster [15] and others.

For functions $f(z) \in \Sigma^*$, we define a linear operator D^n

by the following form

$$\begin{aligned}
 D^0 f(z) &= f(z) \\
 D^1 f(z) &= \frac{1}{z} + 3a_1z + 4a_2z^2 + \dots = \frac{(z^2 f(z))'}{z} \\
 D^2 f(z) &= D(D^1 f(z)) \\
 &\vdots \\
 D^n f(z) &= D(D^{n-1} f(z)) \\
 &= \frac{1}{z} + \sum_{m=1}^{\infty} (m+2)^n a_m z^m \\
 &= \frac{(z^2 D^{n-1} f(z))'}{z}, \text{ for } n = 1, 2, \dots
 \end{aligned} \tag{1.6}$$

Now, we define a new subclass $\sigma_p(\alpha)$ of Σ^* .

Definition 1.1. For $-1 \leq \alpha < 1$, we let $\sigma_p(\alpha)$ be the subclass of Σ^* consisting of the form (1.1) and satisfying the analytic criterion

$$\operatorname{Re} \left\{ \frac{D^{n+1} f(z)}{D^n f(z)} - \alpha \right\} > \left| \frac{D^{n+1} f(z)}{D^n f(z)} - 1 \right|, \tag{1.7}$$

$D^n f(z)$ is given by (??)

The main object of the paper is to study some usual properties of the geometric function theory such as coefficient bounds, growth and distortion properties, radius of convexity, convex linear combination and convolution properties, integral operators and δ -neighbourhoods for the class $\sigma_p(\alpha)$.

2. Coefficient inequality

In this section we obtain the coefficient bounds of function $f(z)$ for the class $\sigma_p(\alpha)$.

Theorem 2.1. A function $f(z)$ of the form (1.1) is in $\sigma_p(\alpha)$ if

$$\sum_{m=1}^{\infty} (m+2)^n (2m+3-\alpha) |a_m| \leq (1-\alpha), \quad -1 \leq \alpha < 1. \tag{2.1}$$

Proof. It sufficient to show that

$$\left| \frac{D^{n+1} f(z)}{D^n f(z)} - 1 \right| - \operatorname{Re} \left\{ \frac{D^{n+1} f(z)}{D^n f(z)} - \alpha \right\} \leq (1-\alpha).$$

Now

$$\begin{aligned}
 &\left| \frac{D^{n+1} f(z)}{D^n f(z)} - 1 \right| - \operatorname{Re} \left\{ \frac{D^{n+1} f(z)}{D^n f(z)} - \alpha \right\} \\
 &\leq 2 \left| \frac{D^{n+1} f(z)}{D^n f(z)} - 1 \right| \\
 &\leq \frac{2 \sum_{m=1}^{\infty} (m+2)^n (m+1) |a_m| z^m}{\left| \frac{1}{z} - \sum_{m=1}^{\infty} (m+2)^n |a_m| z^m \right|}
 \end{aligned}$$

Letting $z \rightarrow 1$ along the real axis, we obtain

$$\leq \frac{2 \sum_{m=1}^{\infty} (m+2)^n (m+1) |a_m|}{1 - \sum_{m=1}^{\infty} (m+2)^n |a_m|}.$$

The above expression is bounded by $(1-\alpha)$ if

$$\sum_{m=1}^{\infty} (m+2)^n (2m+3-\alpha) |a_m| \leq (1-\alpha).$$

Hence the theorem is completed □

Corollary 2.2. Let the function $f(z)$ defined by (1.1) be in the class $\sigma_p(\alpha)$. Then

$$a_m \leq \frac{(1-\alpha)}{\sum_{m=1}^{\infty} (m+2)^n (2m+3-\alpha)}, \quad m \geq 1. \tag{2.2}$$

Equality holds for the function of the form

$$f_m(z) = \frac{1}{z} + \frac{(1-\alpha)}{(m+2)^n (2m+3-\alpha)} z^m \tag{2.3}$$

3. Distortion Theorems

In this section we obtain the sharp for the Distortion theorems of the form (1.1).

Theorem 3.1. Let the function $f(z)$ defined by (1.1) be in the class $\sigma_p(\alpha)$. Then for $0 < |z| = r < 1$,

$$\frac{1}{r} - \frac{(1-\alpha)}{3^n(5-\alpha)} r \leq |f(z)| \leq \frac{1}{r} + \frac{(1-\alpha)}{3^n(5-\alpha)} r \tag{3.1}$$

with equality for the function

$$f(z) = \frac{1}{z} + \frac{(1-\alpha)}{3^n(5-\alpha)} z, \text{ at } z = r, ir. \tag{3.2}$$

Proof. Suppose $f(z)$ is in $\sigma_p(\alpha)$. In view of Theorem 2.1, we have

$$3^n(5-\alpha) \sum_{m=1}^{\infty} a_m \leq \sum_{m=1}^{\infty} (m+2)^n (2m+3-\alpha) \leq (1-\alpha)$$

which evidently yields $\sum_{m=1}^{\infty} a_m \leq \frac{1-\alpha}{3^n(5-\alpha)}$.



Consequently, we obtain

$$\begin{aligned} |f(z)| &= \left| \frac{1}{z} + \sum_{m=1}^{\infty} a_m z^m \right| \leq \left| \frac{1}{z} \right| + \sum_{m=1}^{\infty} a_m |z|^m \\ &\leq \frac{1}{r} + r \sum_{m=1}^{\infty} a_m \\ &\leq \frac{1}{r} + \frac{(1-\alpha)}{3^n(5-\alpha)} r. \end{aligned}$$

$$\begin{aligned} \text{Also, } |f(z)| &= \left| \frac{1}{z} + \sum_{m=1}^{\infty} a_m z^m \right| \geq \left| \frac{1}{z} \right| - \sum_{m=1}^{\infty} a_m |z|^m \\ &\geq \frac{1}{r} - r \sum_{m=1}^{\infty} a_m \\ &\geq \frac{1}{r} - \frac{(1-\alpha)}{3^n(5-\alpha)} r. \end{aligned}$$

Hence the results (3.1) follow.

Theorem 3.2. Let the function $f(z)$ defined by (1.1) be in the class $\sigma_p(\alpha)$. Then for $0 < |z| = r < 1$,

$$\frac{1}{r^2} - \frac{(1-\alpha)}{3^n(5-\alpha)} \leq |f'(z)| \leq \frac{1}{r^2} + \frac{(1-\alpha)}{3^n(5-\alpha)}.$$

The result is sharp, the extremal function being of the form (3.2)

Proof. From Theorem 2.1, we have

$$\begin{aligned} 3^n(5-\alpha) \sum_{m=1}^{\infty} m a_m &\leq \sum_{m=1}^{\infty} (m+2)^n (2m+3-\alpha) \\ &\leq (1-\alpha) \end{aligned}$$

which evidently yields $\sum_{m=1}^{\infty} m a_m \leq \frac{1-\alpha}{3^n(5-\alpha)}$.

Consequently, we obtain

$$\begin{aligned} |f'(z)| &\leq \left| \frac{1}{r^2} + \sum_{m=1}^{\infty} m a_m r^{m-1} \right| \\ &\leq \frac{1}{r^2} + \sum_{m=1}^{\infty} m a_m \\ &\leq \frac{1}{r^2} + \frac{(1-\alpha)}{3^n(5-\alpha)}. \end{aligned}$$

$$\begin{aligned} \text{Also, } |f'(z)| &\geq \left| \frac{1}{r^2} - \sum_{m=1}^{\infty} m a_m r^{m-1} \right| \\ &\geq \frac{1}{r^2} - \sum_{m=1}^{\infty} m a_m \\ &\geq \frac{1}{r^2} + \frac{(1-\alpha)}{3^n(5-\alpha)}. \end{aligned}$$

This completes the proof. □

4. Class preserving integral operators

In this section we consider the class preserving integral operator of the form (1.1).

Theorem 4.1. Let the function $f(z)$ defined by (1.1) be in the class $\sigma_p(\alpha)$. Then

$$f(z) = cz^{-c-1} \int_0^z t^c f(t) dt = \frac{1}{z} + \sum_{m=1}^{\infty} \frac{c}{c+m+1} a_m z^m, \quad c > 0 \tag{4.1}$$

belongs to the class $\sigma[\delta(\alpha, n, c)]$, where

$$\delta(\alpha, n, c) = \frac{3^n(5-\alpha)(c+2) - (1-\alpha)c}{3^n(5+\alpha)(c+2) - (1-\alpha)c} \tag{4.2}$$

□ The result is sharp for $f(z) = \frac{1}{z} + \frac{(1-\alpha)}{3^n(5-\alpha)} z$.

Proof. Suppose

$$f(z) = \frac{1}{z} + \sum_{m=1}^{\infty} a_m z^m$$

is in $\sigma_p(\alpha)$. we have

$$f(z) = cz^{-c-1} \int_0^z t^c f(t) dt = \frac{1}{z} + \sum_{m=1}^{\infty} \frac{c}{c+m+1} a_m z^m, \quad c > 0.$$

It is sufficient to show that

$$\sum_{m=1}^{\infty} \frac{m+\delta}{1-\delta} \frac{c a_m}{m+c+1} \leq 1. \tag{4.3}$$

Since $f(z)$ is in $\sigma_p(\alpha)$, we have

$$\frac{\sum_{m=1}^{\infty} (m+2)^n (2m+3-\alpha) |a_m|}{1-\alpha} \leq 1. \tag{4.4}$$

Thus (4.3) will be satisfied if

$$\frac{(m+\delta)c}{(1-\delta)(m+c+1)} \leq \frac{(m+2)^n (2m+3-\alpha)}{1-\alpha}, \text{ for each } m \text{ or}$$

$$\delta \leq \frac{(m+2)^n (2m+3-\alpha)(c+m+1) - mc(1-\alpha)}{(m+2)^n 2m+3-\alpha)(c+m+1) + (1-\alpha)} = G(m) \tag{4.5}$$

Then $G(m+1) - G(m) > 0$, for each m .

Hence $G(m)$ is an increasing function of m .

Since $G(1) = \frac{3^n(5-\alpha)(c+2)-c(1-\alpha)}{3^n(5-\alpha)(c+2)+c(1-\alpha)}$.

The result follows. □

5. Convex linear combinations and convolution properties

In this section we obtain the radius meromorphically convex of order δ , convex linear combinations and convolution properties for functions in the class $\sigma_p(\alpha)$. □



Theorem 5.1. *If the function $f(z) = \frac{1}{z} + \sum_{m=1}^{\infty} a_m z^m$ is in $\sigma_p(\alpha)$ then $f(z)$ is meromorphically convex of order δ ($0 \leq \delta < 1$) in $|z| < r = r(\alpha, \delta)$ where*

$$r(\alpha, \delta) = \inf_{n \geq 1} \left\{ \frac{(1-\delta)(m+2)^n(2m+3-\alpha)}{(1-\alpha)m(m+2-\delta)} \right\}^{\frac{1}{m+1}}.$$

The result is sharp.

Proof. Let $f(z)$ be in $\sigma_p(\alpha)$. Then, by Theorem 2.1, we have

$$\sum_{m=1}^{\infty} (m+2)^n(2m+3-\alpha)|a_m| \leq (1-\alpha). \tag{5.1}$$

It is sufficient to show that $\left| 2 + \frac{zf''(z)}{f'(z)} \right| \leq (1-\delta)$ for $|z| < r = r(\alpha, \delta)$, where $r(\alpha, \delta)$ is specified in the statement of the theorem. Then

$$\begin{aligned} \left| 2 + \frac{zf''(z)}{f'(z)} \right| &= \left| \frac{\sum_{m=1}^{\infty} m(m+1)a_m z^{m-1}}{\frac{1}{z^2} + \sum_{m=1}^{\infty} ma_m z^{m-1}} \right| \\ &\leq \frac{\sum_{m=1}^{\infty} m(m+1)a_m |z|^{m+1}}{1 - \sum_{m=1}^{\infty} ma_m |z|^{m+1}}. \end{aligned}$$

This will be bounded by $(1-\delta)$ if

$$\sum_{m=1}^{\infty} \frac{m(m+2-\delta)}{1-\delta} a_m |z|^{m+1} \leq 1. \tag{5.2}$$

By (5.1), it follows that (5.2) is true if $\frac{m(m+2-\delta)}{1-\delta} |z|^{m+1} \leq \frac{(m+2)^n(2m+3-\alpha)}{1-\alpha}$, $m \geq 1$ or

$$|z| \leq \left\{ \frac{(1-\delta)(m+2)^n(2m+3-\alpha)}{(1-\alpha)m(m+2-\delta)} \right\}^{\frac{1}{m+1}}. \tag{5.3}$$

Setting $|z| = r(\alpha, \delta)$ in (5.3), the result follows. The result is sharp for the function.

$$f_m(z) = \frac{1}{z} + \frac{(1-\alpha)}{(m+2)^n(2m+3-\alpha)} z^m, \quad m \geq 1.$$

Theorem 5.2. *Let $f_0(z) = \frac{1}{z}$ and*

$$f_m(z) = \frac{1}{z} + \frac{(1-\alpha)}{(m+2)^n(2m+3-\alpha)} z^m, \quad m \geq 1.$$

Then $f(z) = \frac{1}{z} + \sum_{m=1}^{\infty} a_m z^m$ is in the class $\sigma_p(\alpha)$ if and only if it can be expressed in the form

$$f(z) = \lambda_0 f_0(z) + \sum_{m=1}^{\infty} \lambda_m f_m(z),$$

where $\lambda_0 \geq 0, \lambda_m \geq 0, m \geq 1$ and $\lambda_0 + \sum_{m=1}^{\infty} \lambda_m = 1$.

Proof. Let $f(z) = \lambda_0 f_0(z) + \sum_{m=1}^{\infty} \lambda_m f_m(z)$ with $\lambda_0 \geq 0, \lambda_m \geq 0, m \geq 1$ and $\lambda_0 + \sum_{m=1}^{\infty} \lambda_m = 1$. Then

$$\begin{aligned} f(z) &= \lambda_0 f_0(z) + \sum_{m=1}^{\infty} \lambda_m f_m(z) \\ &= \frac{1}{z} + \sum_{m=1}^{\infty} \lambda_m \frac{(1-\alpha)}{(m+2)^n(2m+3-\alpha)} z^m \end{aligned}$$

$$\begin{aligned} \text{Since } \sum_{m=1}^{\infty} \frac{(m+2)^n(2m+3-\alpha)}{(1-\alpha)} \lambda_m \frac{(1-\alpha)}{(m+2)^n(2m+3-\alpha)} &= \sum_{m=1}^{\infty} \lambda_m = 1 - \lambda_0 \leq 1. \end{aligned}$$

By Theorem 2.1, $f(z)$ is in the class $\sigma_p(\alpha)$.

Conversely suppose that the function $f(z)$ is in the class $\sigma_p(\alpha)$, since

$$a_m \leq \frac{(1-\alpha)}{(m+2)^n(2m+3-\alpha)} z^m, \quad m \geq 1.$$

$\lambda_m = \sum_{m=1}^{\infty} \frac{(m+2)^n(2m+3-\alpha)}{(1-\alpha)} a_m$ and $\lambda_0 = 1 - \sum_{m=1}^{\infty} \lambda_m$. It follows

$$\text{that } f(z) = \lambda_0 f_0(z) + \sum_{m=1}^{\infty} \lambda_m f_m(z).$$

This completes the proof of the theorem. \square

For the functions $f(z) = \frac{1}{z} + \sum_{m=1}^{\infty} a_m z^m$ and $g(z) = \frac{1}{z} + \sum_{m=1}^{\infty} b_m z^m$

belongs to \sum_p , we denoted by $(f * g)(z)$ the convolution of $f(z)$ and $g(z)$ and defined as

$$(f * g)(z) = \frac{1}{z} + \sum_{m=1}^{\infty} a_m b_m z^m$$

Theorem 5.3. *If the function $f(z) = \frac{1}{z} + \sum_{m=1}^{\infty} a_m z^m$ and $g(z) = \frac{1}{z} + \sum_{m=1}^{\infty} b_m z^m$ are in the class $\sigma_p(\alpha)$ then $(f * g)(z)$ is in the class $\sigma_p(\alpha)$*

Proof. Suppose $f(z)$ and $g(z)$ are in $\sigma_p(\alpha)$. By Theorem 2.1, we have $\sum_{m=1}^{\infty} \frac{(m+2)^n(2m+3-\alpha)}{(1-\alpha)} a_m \leq 1$

and $\sum_{m=1}^{\infty} \frac{(m+2)^n(2m+3-\alpha)}{(1-\alpha)} b_m \leq 1$.

Since $f(z)$ and $g(z)$ are regular are in E , so is $(f * g)(z)$. Further more

$$\begin{aligned} &\sum_{m=1}^{\infty} \frac{(m+2)^n(2m+3-\alpha)}{(1-\alpha)} a_m b_m \\ &\leq \sum_{m=1}^{\infty} \left\{ \frac{(m+2)^n(2m+3-\alpha)}{(1-\alpha)} \right\}^2 a_m b_m \\ &\leq \left(\sum_{m=1}^{\infty} \frac{(m+2)^n(2m+3-\alpha)}{(1-\alpha)} a_m \right) \\ &\quad (\times) \left(\sum_{m=1}^{\infty} \frac{(m+2)^n(2m+3-\alpha)}{(1-\alpha)} b_m \right) \\ &\leq 1. \end{aligned}$$



Hence, by Theorem 2.1, $(f * g)(z)$ is in the class $\sigma_p(\alpha)$. \square

6. Neighborhoods for the class $\sigma_p(\alpha, \gamma)$

In this section we define the δ -neighborhood of a function $f(z)$ and establish a relation between δ -neighborhood and $\sigma_p(\alpha, \gamma)$ class of a function.

Definition 6.1. A function $f \in \Sigma_p$ is said to in the class $\sigma_p(\alpha, \gamma)$ if there exists a function $g \in \sigma_p(\alpha)$ such that

$$\left| \frac{f(z)}{g(z)} - 1 \right| < (1 - \gamma), \quad z \in E, \quad 0 \leq \gamma < 1. \quad (6.1)$$

Following the earlier works on neighborhoods of analytic functions by Goodman [4] and Ruschweyh [16]. We defined the δ -neighborhood of a function $f \in \Sigma_p$ by

$$N_\delta(f) = \left\{ g \in \Sigma_p \mid g(z) = \frac{1}{z} + \sum_{m=1}^{\infty} b_m z^m : \sum_{m=1}^{\infty} m|a_m - b_m| \leq \delta \right\} \quad (6.2)$$

Theorem 6.2. If $g \in \sigma_p(\alpha)$ and

$$\gamma = 1 - \frac{\delta(5 - \alpha)}{4} \quad (6.3)$$

then $N_\delta(g) \subset \sigma_p(\alpha, \gamma)$.

Proof. Let $f \in N_\delta(g)$. Then we find from (6.2) that

$$\sum_{m=1}^{\infty} m|a_m - b_m| \leq \delta \quad (6.4)$$

which implies the coefficient of inequality

$$\sum_{m=1}^{\infty} |a_m - b_m| \leq \delta, \quad m \in \mathbb{N}.$$

Since $g \in \sigma_p(\alpha)$, we have $\sum_{m=1}^{\infty} b_m = \frac{1-\alpha}{5-\alpha}$.

So that $\left| \frac{f(z)}{g(z)} - 1 \right| < \frac{\sum_{m=1}^{\infty} |a_m - b_m|}{1 - \sum_{m=1}^{\infty} b_m} < \frac{\delta(5-\alpha)}{4} = 1 - \gamma,$

provided γ is given by (6.3).

Hence, by Definition, $f \in \sigma_p(\alpha, \gamma)$ for γ given by (6.3), which completes the proof of theorem. \square

[2] R. Bharathi, R. Parvatham and A. Swaminathan, On subclasses of uniformly convex functions and corresponding class of starlike functions, Tamkang J. Maths., 28(1) (1997), 17-32.

[3] J. Clunie, On meromorphic schlicht functions, J. London Math. Soc., 34 (1959), 215-216.

[4] A.W.Goodman, Univalent functions and non-analytic curves, Proc. Amer. Math. Soc., 8 (1957), 598-601.

[5] A.V. Goodman, On uniformly convex functions, Ann. Pol. Math., 56 (1991), 87-92.

[6] A. W. Goodman, On Uniformly starlike functions, J. of Math. Anal. And Appl., 155 (1991), 364-370 .

[7] O.P.Juneja and T. R. Reddy, Meromorphic starlike univalent functions with positive coefficients, Ann. Univ. Maiiae Curie Sklodowska - Sect. A, 39 (1985), 65-76.

[8] S.Kanas and A. Wisniowska, Conic regions and k-uniform convexity, Comput. Appl. Math., 105 (1999), 327-336.

[9] S.Kanas and A. Wisniowska, Conic domains and starlike functions, Rev. Roum. Math. Pures Appl., 45 (2000), 647-657.

[10] G. Murugusundarmurthy and N. Magesh, Certain subclasses of starlike functions of complex order involving generalised hypergeometric functions, Int. J. Math. Math. Sci., Article ID 178605 (2010), 12 pages.

[11] Ch.Pommerenke, On meromorphic starlike functions, Pacific J. Math., 13 (1963), 221-235.

[12] F.Ronning, On starlike functions associated with parabolic regions, Ann. Univ. Mariae Curie-Sklodowska-Sect. A, 45 (1991), 117-122.

[13] F. Ronning, Uniformly convex functions and a corresponding class of starlike functions, Proc. Amer. Math. Soc., 118 (1993), 189-196.

[14] F. Ronning, Integral representations of bounded starlike functions, Ann. Pol. Math, 60(3) (1995), 298-297.

[15] W. C. Royster, Meromorphic starlike multivalent functions, Trans. Amer. Math. Soc., 107 (1963), 300-308.

[16] St. Ruschweyh, Neighbourhoods of univalent functions, Proc. Amer. Math. Soc., 81 (1981), 521-527.

[17] H. Silverman, Univalent functions with negative coefficients, Proc. Amer. Math. Soc., 51 (1975), 109-116.

 ISSN(P):2319 – 3786
 Malaya Journal of Matematik
 ISSN(O):2321 – 5666

References

[1] O.P.Ahuja, G. Murugusundaramurthy and N. Magesh, Integral means for uniformly convex and starlike functions associated with generalized hypergeometric functions, J. Inequal. Pure Appl. Math., 8(4) (2008), 118 -127.

